Best model for HELP J142745.595+335534.989 at z = 0.281 x?=3.6
OPTx?=1.1 IRx?=11.36 threshold (OPT IR)=10.25 [um]

102 ] : Stellar attenuated
3 o R Stellar unattenuated
] [l] q] h —— Dust emission
—— AGN emission
10! 5

= Model spectrum
® Model fluxes

100_; M oObserved fluxes
= ]
- -1
E 107 3
) ]
2 10_2 _Empﬁn"‘"‘h\ —
T E ki st []1:]“
1073 Y/
107
5 ]
3073 3
1
© 1 =—f= (Obs-Mod)/Obs
3 | -
21 I
S 0+=-=-=k44HH4- R T N
S o=l
) ]
2 |
E_l T 1 T LI | T LA | T LA | T LR | T T mE
cqé 100 10! 102 103 104 8

Observed wavelength [um]



